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1. What is the man’ s favorite sport in summer?

A. Watch TV.
B. Playing tennis.
C. Going to the movies.

2. What will the man send to the woman when he gets to Finland?

A. A letter. B. A picture. C. A posteard.

3. What will the woman probably do next?

A. Take the man’s order.
B. Look for some apples.
C. Sit down to eat.
4. What did the speakers plan to do this afternoon?
A. Play tennis.
B. Have a picnic.
C. Clean the house.
5. What information did the woman get from the man?
A. Susan will leave for Shanghai very soon.
B. Mary will leave Shanghai very soon.
C. Susan will leave for Beijing very soon.
6. What is the woman going to do with her father?
A. Choose a gift for her dad.
B. Attend a birthday party.
C. Buy some shoes for herself.

7. What’ s the telephone number of James?

A. 85433050 B. 85430050 C. 85345005

8. What is the man’ s problem?

A. He had a bigger apartment before.
B. He finds the new apartment too big for him.
C. He’s having a hard time finding an apartment.

9. What does the woman suggest the man do?

A. Bring a gift to Mary.
B. Invite Mary and her daughter to dinner.



C. Buy a Barbie doll for Mary’ s daughter.

10. What may be the woman’ s choice?

A. To graduate.

B. To be independent.

C. To work for a small company.
11. What does the woman want to do tonight?

A. To stay home. B. To sleep.
12. What’s the woman doing?

A. Visiting the Brownings.

B. Looking for a postcard.

C. Writing a postecard.

~ C. To see a movie.
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1. When will there be a party? :

A. Next Sunday. B. Next Monday. C. This Sunday.
2. When will Mr. Blackman come?
A. August 23, B. August 30. C. August 31.

3. When will the train come?
A. It will be a long time.
B. In five minutes.
C. In nineteen minutes.
4. When will the two speakers meet?

A. At 9:30. B. At 10.00. C. At 10:30.
5. At what time does the shop open on Wednesday?

A. 10 a. m. B. 9am. C. 8a.m.
6. What time is it now?

A. 7:45. B. 8:15. C. 8:45.

7. When will the examinations be given?

A. Tomorrow. B. In 21 days’ time. C. Next week.
8. When must the book-reports be given to Mr. Green?

A. On or before November 30.

B. Not earlier than November 13.

C. On or before November 13.
9. When will the library be open on Saturday?

A.%9a mtoSp.m B. 8a. mto9 p.m. C.5a mto9p.m.
10. When will the written test begin?
A, A1 8:00. B. At 8.40. C. At 9.:40.
11. When is the flight to Shanghai?
A. 11.30 a.m. B. 1:30 p. m. C. 2:00 p. m.

12. When may they have this conversation?
A. Just after a performance.
B. Before a performance.
C. During a performance.
13. When does the train usually leave for Paris every morning?

A. At 23.20. B. At 18.40. C. At 8:18.
14. What day is today?
A. Sunday. B. Wednesday. C. Monday.
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10.

11.

12.

Where will the man and woman go tomorrow evening?

A. To a party. B. To the cinema. C. To the theater.
Where does the man want to go? ’

A. The zoo. B. The bank. C. The bus stop.
Where does Robert plan to go on his way home? k ‘
A. The bank. B. The office. C. The barbershop.
Where do you think they are talking?

A. In a club.

B. In a department store.

C. At the office.

Where does this conversation most probably happen?

A. At a pub.

B. At a restaurant.

C. In an Arabic supermarket.

Where does this conversation probably take place?

A. In the hotel room. B. At the reception. C. At the airport.

. Where will the man go first?

A. To the barbershop.
B. To the airport.
C. To his manager’ s office.

. Where does this conversation most probably take place?

A. In a kitchen. B. In a garden: C. In the market.
Where are the two speakers?
A. At a bus stop. B. In a hospital. C. In a shop.
Where did the man stay most of the time? .
A. On the beach. B. In the mountain. C. In the hotel.
Where will the man go this evening?
A. Go to the party. B. Go to visit his aunt. C. Go to the station.

Where was the woman last Tuesday?
A. In Austria. B. In France. C. In Germany.
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1. Who received a letter first?

A. Paula. B. The man. C. The woman.
2. Who do you think the man is?
A. An editor. B. A doctor. C. A teacher.
3. Who is the man speaking to?
A. His boss. B. A co-worker. - - C. A nurse.
4. Who is asked to call back?
A. Dorothy. B. Fracis Gregory., C. Isabel Hawkins.
5. Who is the man?
A. Tom’s father. B. Tom’s teacher. C. Tom’s boss.

6. Who are the two speakers?
A. Husband and wife.
B. Doctor and patient.
C. Professor and student.
7. What is the man? .
A. A policeman, B. A ticket salesman. C. A conductor.
8. Who is the woman most probably speaking to?
A. A railway porter. B. A postal clerk. C. A taxi driver.
9. Who is the woman?
A. A booking-office clerk.
B. A passing stranger.
C. The man’s friend.
10. Who is the author of The Necklace?
A. French writer Guy de Maupassant,
B. Russian writer Anton Chekhov.
C. French Writer Anton Chekhov.

11. Whom does the man consider the least famous?

A. Miss Green. B. Austen. C. John.
12. Who are the man and the woman talking about?
A. Their boss. B. The taxi driver. C. The waiter.
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1. Why can’t the woman go traveling?

A. Because she doesn’t like to fly.
B. Because she has to work.
C. Because she doesn’t have enough money.
2. Why does the woman want to change the shoes?
A. Because they are not the right color.
B. Because they are not the right style.
C. Because they are not the right size.
3. Why is the man upset?
A. Because he wanted to meet the woman’ s parents.
B. Because he didn’t know the woman’s plans.
C. Because he goes to a country house each August.
4. Why are these people probably having trouble understanding the spea.ker?
A. Because he is speaking a language they don’t know.
B. Because he is speaking much too quickly.
C. Because the microphone is out of order.
5. Why can’t the woman go on Thursday?
A. Because she’ll have a visitor.
B. Because she’ll go to her uncle’s.
C. Because she has an appointment with her friend.
6. Why isn’t Tommy eating his supper?
A. Because he is not hungry.
B. Because he is in too much pain.
C. Because he went to the dentist himself this morning,
7. Why isn’t the man feeling well?
A. Because he didn’t sleep at all last night.
B. Because he couldn’t eat at home last night.
C. Because he must have eaten something that had a bad effect on him.

8. Why must the man go to the bank?

A. Because he doesn’t want to borrow any money from the woman.
B. Because he is going on a trip that will cost him a lot of money.

— 8 —
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C. Because he can get traveler’ s checks only from the bank.
Why does Mary enjoy volleyball best?
A. Because it is a popular game.
B. Because it is a team game.
C. Because it is a one-sided game.
Why did the woman call the man?

A. Because she tried to get some information of the famous poet.

B. Because she wanted the man to heip her prepare the presentation.

C. Because she was worried about her presentation.

Why is the man moving?

A. Because the present apartment is not quiet enough.

B. Because he likes to waich TV late into the night.

C. Because the new apartment is closer to school.

Why are the blood banks short of blood?

A. Because many people have been hurt in accidents recently.
B. Because the number of operations is increasing.

C. Because fewer people are giving blood.
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1. How will the man pay for the goods?

A. In cash. B. By credit card. C. By bankdraft.

2. How long has the woman had the toothache?

A. Since last year. B. For a few days. C. For several weeks.

3. How often does the woman send her boyfriend e-mails?

A. Twice a week.
B. Fifteen times a month.
C. Ten times a month.
4. How long does the man spend travelling to work?
A. About 15 minutes.
B. About half an hour.
C. About three quarters of an hour.
5. How does the woman feel when they are talking?
A. Sorry. B. Tired. C. Excited.

6. How will the woman go to the museum?

A. By taxi. B. By public bus. C. By underground train.

7. How long does it take the man to get to Beijing Railway Station by subway?

A. Half an hour. B. Fifty minutes. C. Twenty minutes.

8. How much should the man pay for the trip?

A. $400. B. $520. C. $560.
9. How soon will the woman ride her bike away?

A. In a quarter of an hour.

B. In 55 minutes.-

C. In more than one hour’ s time.

10. How did the woman feel about the comedy show?

A. Enjoyable. B. Duil. C. Moving.
11. How many more credits does the man need to get the degree?

A. 48. B.32. C. 16.
12. How many people suffered in the air crash?

A. 64, B. 79. C. 85.
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1. What’ s the probable relationship between the speakers?

A. Lovers.
B. Good friends.
C. Husband and wife.
2. What’ s the probable relationship between the two speakers?
A. Policeman and driver.
B. Driver and passenger.
C. Policeman and criminal.
3. What’ s the probable relationship between the speakers?
A. Husband and wife.
B. Mother and son.
C. Doctor and patient.
4. What is the most probable relationship between the two speakers?
A. Doctor and-patient.
B. Boss and secretary.
C. Coach and athlete.
5. What is the probable relationship between the two speakers?
A. Doctor and patient.
B. Teacher and student.
C. Visitor and nurse.

6. What do you suppose the two speakers most probably are?

A. Two travelers. B. Ol friends. C. Neighbors.

7. What’ s the probable relationship between the speakers?

A. Father and son.
B. Visitor and salesman.
C. Customer and clerk.
8. What’s the probable relationship between the two speakers?
A. Brother and sister.
B. Two teachers.
C. Two students. .

9. What’ s the relationship between the two speakers?
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A. Clerk and boss.
B. Student and teacher.
C. Client and lawyer.
10. What’ s the probable relationship between the two speakers?
A. Boss and secretary.
B. Manager and employee.
C. Householder and baby-sister.
11. What is the probable relationship between the two speakers?
A. Film fan and director.
B. Reporter and actor.
C. Reporter and director.
12. What is the probable relationship between the two speakers?
A. A new comer and her boss.
B. A visitor and the host.
C. New friends.



